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m Linear Equations in Two Variables

Goal: Find solutions of equations in two variables.

Vocabulary

tion in
wo yariables:

Solution of an
equation in
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Graph of an
equation in
two variables:
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Function form:
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Checking Solutions A

A
Tell whether (5, —1) is a solution of x — 3y = 8.

Solution (X | “6)

x—3y=8  Write original equation.

@ - 3{@) 2 8  Substitute for x and for y.
+B=

Answer: (5, —1)

B‘/éimplify.

a solution of x — 3y = 8.

b
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Q Checkpoint Tell whether the ordered pair is a solution of
2x—y=5.
(xY)

1. (0, -5) 2)s 2 B)-2,-9
1x-Y=5 | Ix-Y:=5
2.(3) ’L s |2(DF9)5

W ':) -
Graphing a .fnearE uation D= 5

Graphy = —x + 1.

O +1
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1. Make a table of solutions. ¥
x| -2 | -1 0 1 2 i2]3
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2. List the solutions as crdered pairs.

(-2.3).(-2.[2).o.[T) SHHEN
N A=)

3. Graph the ordered pairs, and note that the points lie on a
I:lA Draw the |:| which is the graph of y = —x + 1.
b

m Graphing Horizontal and Vertical Lines

Graphy=—-2 and x = 3.

a. The graph of the equation b. The graph of the equation
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Example 4

Writing an Equation in Function Form

Writ: @ 2 in function form. Then graph the equation.

3( To write the equation ikﬁ‘unction form, solve for D
-1 - -z-
) 7 = x —y=2 Write original equation.
5 P = ~.Ex + 2_ Subtract @fram each side.
= -8 a7 rﬁﬁfd‘u
'3(0) -2 . Fb_ X |- 2 each side by :
'O - Q, To graph the equation, use its . ¥
function form to make a table 12] 4)
23( I) - Q_ \ of solutions. Graph the ordered Y
3 - a pairs (x, y) from the table, and 1 taln
draw a line through the points. T p i
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4, Graph y =4 and x = —3. RE
Tell whether each equation .
is a function. 2
1
-4-§-2 |0 23 4x
=i
—¥
—4
5. Write x — 2y = 4 in function form. NG
Then graph the equation. ;
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